NOTES:
1. 2'x12°[51x305] VERTICAL X-BRACE PLACED ON CENTER SERIES OF POLES ONLY.

2. VERTICAL CROSS—BRACING TO BE PLACED ON OPPOSITE SIDES OF POLES AND THEN
THRU BOLTED TO THE POLES.

3. POLES SHALL HAVE A MINIMUM CIRCUMFERENCE OF 31" AT TOP. MINIMUM
CIRCUMFERENCE TAKEN 6" FROM BUTT=50.5"

4, BOLT HOLE DIAMETERS SHALL BE 1/16" LARGER THAN THRU BOLT DIAMETERS.
ALL NUTS, BOLTS, AND STEEL PLATES SHALL BE HOT DIPPED GALVANIZED.

6. PLACE ALL DECKING BARK SIDE UP.

o _J
( ”
o
o
<
L
}—
<
a
=z
(]
'_
o
4
)
%)
L
a
¥
4
<
=
o
| Qo
o
<
L
‘l—
<
a
z
)
'_
o
4
O
on
L
a
|
X
4
I <
L =)
4 O N
Wz s
< Z = o
o o = %
'_
§s < 2 =
=< = o’ -}
<< O £ =
wow Z L
rs O (@) =
o ., O, L
>
m e
8 | |
>3 <
02 a_| .
£2 5L
ae - S
<O z | <8
. & 4B
SN m =) H w
me o, W <
S we ,': O
f xo E @ o
2588 2 57 iz
T = 5 9o N2
05 0¥ ®» 1A+ o<
%)
[n'd
m
sz
xo
\/LZQ
ww =
TuO
LSz
Lo
Oup©
T O« L
Z0Zx
L'EJLuI<£
L2
|_EI—<E
<u =
o O
Ly
Do
TH
TH
O
N _J
a N
N _J
,
SHEET h
IDENTIFICATION
L SHEET X OF X J




\L y
( )
%
<§
%
oA
s
~ - | &
—_ —_ BRIDGING, 2 PLACES &
S | S EQUALLY SPACED .
I Asadse STEEL ANGLE i 3
/3 SIDES. COVER EXPOSED @E”E}ES,JDDIICSIE
FACES WITH FIRE HOSE \
' MATERIAL ' ,
= I N ' ‘
: :
/
2-27x10* TYP. —— =
i &
T W
/ o
4°x4" POST TYP. 2
16 PLACES .0 |
3 NOTES: 3
5 g 1. 2'x127[51x305] VERTICAL X—BRACE PLACED ON CENTER SERIES OF POLES ONLY. - =
I 2. VERTICAL CROSS—BRACING TO BE PLACED ON OPPOSITE SIDES OF POLES AND THEN TU o )
O3 THRU BOLTED TO THE POLES. ko2 o
3. POLES SHALL HAVE A MINIMUM CIRCUMFERENCE OF 31" AT TOP. MINIMUM 2@ g b '823
CIRCUMFERENCE TAKEN 6" FROM BUTT=50.5" gg = ?:_c >
4, BOLT HOLE DIAMETERS SHALL BE 1/16" LARGER THAN THRU BOLT DIAMETERS. g% § § W
. ALL NUTS, BOLTS, AND STEEL PLATES SHALL BE HOT DIPPED GALVANIZED. k ;' |
I ~ 6. PLACE ALL DECKING BARK SIDE UP. a 1w
\\ é;% |<O—(\ L
l & o S~ 28
| <O o \<Z’:g
- /) | e E L %g
X X ] // X X | E-’éﬁ o, o Ei')fc;
f 7 N §§ S285 27 .o
2'x6" DECKING _ | o IR — %f %Jf; § ‘gi §§
SPACED @ 1/8” = L=
A ] 2
X - +, ; %
L %o
- <go
/ " 7 " = I ‘_'
| arorripggy 3710761 | 310011760 |8 ; LEL (Z)£
5 CEQT 1
= A e N Lo=%
I\ | a-gmizzar PO %041] 4/-311295]  |~— N EEQ
= ) = 5=
L & AN %
3 — \_ y
~ \
PLAN — DECK
\L y
[ SHEET h
IDENTIFICATION
\_ SHEET X OF X J




A Ww_n_n_< 31vd NOILdIdOs3a AHVINR HddY 31vda NOILdIYOSs3da xw_<_\ﬁ 4 900-11992 a ISNV - N[ @ J
- - . — -JINVYN 3714 -3ZIS — w
- A W0k =¥/l - = X x
39NN 3714 -31va 1071d ‘31vOS 1O01d — - < w
. E s X
“ON LOVYLINOD ‘A9 d3aLLingns 91-GlLt MV % H 5 x
) - plasp - spegoy s "0 ‘NOLONIHSYM e N
“ON NOILVLIOINOS ‘Ad d3aAOd¥ddVY A9 d3aXO3HD SYIATINIONT 40 43IHD IHL 40 IOI440 ] C 5
80/70/800¢C Z8puElIsSH T ANYY FHL 40 LNJNLHVdJ3d Q
VAN 4 \31LVANOILVIEO ‘A9 NMVYdHd J \ L
\ \ _
| | /_ RRUR |
|_
2 BE
(@)
Oy<y
A b= \
L J A <t
(@8] m Lol =
10’ Sm@L 4L / 10" [254°]
Chag
<+ QO U T T
N =
Y ¥y
XoXe O
X > \ -~
<O = ) <C
o NAAYA o
_ , [l
4 / | —
A _ 1 Lol
i _ i
N AAA =
=
: O
a
L
10" [2547] an M 10" [254']

WAVAYR

AVAA

39'-113" [1014°-2"]

Y

A

8 [203-2"] — =




J Ww_n_n_< J1vd NOILdIFOS3A MHVIN R HddVvY 31vd NOILdIdO0S3a xw_<_\9 é /00-11G99¢ adISNV - J [ [ J
B - - “NYN T4 3219 . W
- N W0-1 =P/ — = X x
R ANERIE! 31vd 1071d 37vOS 1071d — - A w
. . ms X
“ON 1LOVHINOD ‘Ag d3LLingns 91-GlLt MV %H 5 .
) -l plog'so  speqoy’s "0’'A 'NOLONIHSYM S_M _ i
“ON NOILVYLIOITOS ‘A9 d3aN0™ddY ‘A9 d3aMO3IHD SYIATINIONT 40 43IHD IHL 40 IOI440 [T C 5
. 80/¥0/8002 Zopueuioy AWYY FHL 40 INTFWNLHVCIA =
J QU J \_:3Lva NOILYHD ‘A8 NMVHQ J L \ J
= 39'-11g" [1014'—2"] -
4 [101°=7"]
@
1 r=r— 8 [203-2"] — == 8 [203-2"] — =f=— 8 [203-2"] — =|=— 8 [203-2"] — =]
o
‘
AT NAA
= / \ _
‘, YN |
=
<C
T
10" [254°] = 10" [2547]
=
— — — — —— m
_|
AR <
| II | II =1 v
Y 1 (i
I | —
ANAA -
ae
<C
L]
o
10’ [254'] 102 [254]
Y AN
a O s <




[4ddv 3Lva NOILdI¥OS3a MUV ¥ddY  3lva NOILdI¥0S3d saviny 800-11592  QISNV - Y[ [ )
— - = =N ERE! ‘3z18 - W
- N W07 = .91/€ - = X «
MIGNNN TS FLva LO1d  31VOS 101d - =< X N
: - wo °
“ON LOVYLINOD ‘A9 @3LLINENS 91-GLy MV % L O~
\ phog '$'0 SHGOY '3 '0'A ‘NOLONIHSYM =
“ONNOLLYLIOIOS ‘A8 d3A0¥ddY A8 IHOIHD  ovimon19NT 4O 431HO THL 40 I91440 i Q) I
80/70/800¢ ZepueLlsH ANYY JHL 40 INJN1HVd3d Q
\ J \_:2Lva NOILYIHO ‘A8 NMVNA J L \ J

" [2438.4]

11'=5" [3479.8]

4’_1 ”
[1244.6]

' [203'—2"1——}-—8'—0

[2438]——

- 80" [2438]——

e

3'-10 1/2"1181]

12 RISERS @ 8"=
8'—0" [2438] TYP.

NAANZNTN

[0}

/IS

//
%

WOOD RAILS

%\1’—11 1/4'1391]
z

AVAA

BOARD TO BE
SURFACE FOR
STAIR STRINGERS

3"x12" TREATED
USED AS BEARING

n

r

10 STEPS @ 10 14’

|—-—

8'-6 1/2'[2608

F—4" [4064]

AR

4'-1"11243]

9%

WAVAVA

AR

10" [254']

10" [254°]

VAN

NAVAYA

L1

10" [254']

<\

|1

2°x12" CROSS—BRACING —
DOUBLE-BOLTED
AT ENDS

FINISHED GRADE

AN

SOUTH ELEVATION




N\ frdav  3iva NOILdI¥OS3a savif¥ddy 3iva NOILdINOS3a savin) 600-1169Z O ISNY - Y[ [ )
- —T—= =N 3218 - W

- N W07 = .91/€ - = X «

MIIWNN T4 31VA 10T 3TVOS 10Td - — <C VA .

_ - wo ©

“ON 1OVHINOD :A8 GILLINGNS 9L-GLY MY T (o

. g qaod S0 | Shedod S 0’ ‘NOLONIHSYM =

FON NOILVLIOITOS A8 Q3AOMddY A8 A3HOFHO oy 99 IONT 4O J3IHD T 40 T91440 5 Q¢
80/70/800¢ Z8pUeLlIsH 1 ANYY FHL 40 INJNLEVd3d a

JAY ] \:3LvaNoiyauo A8 NMYHQ J L \ J

LNO O
LES g
Sof% = 5348 3
N_Lln\_u m | %D )
ASR Lol OET ©
SLC @ Eo o
—1cH = O %
NS 22
= =
N/_ L
= >
% 2 — M =5
- 8 | 183-6//2" [1879.6](~8'—0" [2438.4] - s 7/—9” [2362.23—}-—8'—0" [2438.4}—
o |0 iy &
R — 2 P
% NANUNGN
/ AN AN [/ —_
\ N N N\ /
NI RRUR
10’ [254'] 10" [2547]
Q VT
X _ N
TR _
S
_|
=
10" [254'] 10" [254'] &
1
=
)
=
AR
_m._ =<1 < T
N = AAVA
T
13'—4” [4064]
11'=5” [3479.8]
VN
” » ; ; | 1
| | AVAVA




2 4 5
4"x4" POST f
4"x4"x1 /4" ANGLE / 2"x6" DECKING E
LENGTH ‘OF TOWER\ N\ //2’&10” JOIST © 2(61) 0.6, . i -
/
Z | 1/2”)(2” é
== GALV. STEEL
PLATE :
1/2” DIA [ (T SEE DETAIL /B
GALV. BOLTS
i i 3/8" DIA. GALV. BOLTS
” ” ot —~—H T s A x
2"x6” SIDING at =8 x o T 1'—4"[406] E
TONGUE AND GROOVE 3/4” DIA. GALV. BOLTS Il
| \ U0 WD
4”X12” BEAM 1/277X2H
N GALV. STEEL
210" PLATE
\/@\ SEE DETAL/ 6 .
] POLE (SEE NOTES, SHEET 2) w
DETAIL /3 YOKE-CLAMP DETAIL \
DETAIL /2 \FRONT WALL (OPP. HAND)
3% 3 |
i, G61%¢
%3 s |25
2" x10"[50x254] 1
X X X5 356 3 2T bz
125 4] 125 4] / ,
T I /T /T
//2 x10°[50x254] T
: : 1/2” DIAx" [13 DIAX203]GALV. BOLT 2L 3
1/2”)(2” 7 ﬁi Dg
STEEL PLATE - S )
v 1N 1N r *
N, L AN
~~—9/16"DIA. HOLES 2" x10750x254]
! / /
£ x4"[102x102]
DETAIL mTYPICAL CLAMP PLATE TYPICAL HANDRAIL SUPPORT
NI
[ SHEET )
IDENTIFICATION
C-5XX
L SHEET X OF X y




f-yddv

3lvd

NOILdIYOS3Ad

MdVIN

dddv

3lvda

NOILdI¥DS3a v

110-11599¢ a SNV
ANVYN 314 3ZI1S

™{3gNNN 3714

“ON LOVHLINOD

/1 W01 =.91/€

‘31va 1071d ‘31vOS 1071d

‘A9 @3aLLngns

- pAog 'S’ D suagoy 'S
“.OZZO_._.<._._O_._Ow”>m_n_m_>Om_n_n_<”>m_n_m_xom_Io

80/70/800¢
A\ 31Vvd NOILVY3dO

ZapueussH '
‘A9 NMvdd

SH33ANIONT 40 43IHO 3HL 40 301440
ANEY FHL 40 INJN1EVd3d

9l

-Gly dv

"0°A ‘NOLONIHSYM

y

\

7

SHEET
IDENTIFICATION

C-5XX

SHEET X OF X

v

.

YOKE—-CLAM

—
o
_|
Lol
Lol
T
n
%)
Lol
_|
)
=
Lo
L
%)

SN—
Ll
—1
o
o

o
>
T
o~

o

NI
\_7
| S 2"x8"

N
<

2-5/8"DIA.
GALV. BOLTS

<>

2"°x6” DECKING

SPACED @ 1/8”

2°x10" JOIST

3"x12" BEAM

NIE

DETAIL /4 “\ HORIZONTAL CROSS BRACING

(5

DETAIL




3/4" DIA. GALV. BOLTS

~

SECTIONm POST AT STAIR LANDING

8/IX4II

.

— 2'x6

4”X4”X4/_]_0”

/ POST (TYP.)

" DECKING

a

4"x4” POST
2"x6” DECKING
J\l_ » » b
/2 x10" JOIST @ 2(61) 0.C.
/
1] \ T
3/8” DIA. GALV. BOLTS
3"x12” BEAM

N\
JiRSRS

— 3’10 1/2"1181]

?

VIEW A STAIR LANDING

gl A

3'x12" BEAM

2-3/4" DIA, GALV., BOLTS

(THRU POLE AND 3'x12'BEAM)
W/NUT AND WASHER

POLE — SEE NOTES SHEET 2

(8

3[3
OLE
ellxloll
Ny % P7x6" DECKING
//)(\\ 7
DOWN 17 X
L X 47x4"x4'~10" POST
olo‘ ", (TYP. 7 PLACES)
< D z‘ |
1003048 o | | S
o | 7
— A
z
* /—’/’ 8 " X 1 [] "
UP 71, 7
i/
——— POLE
|—————————— \ —_—
N
0

SECTION /7

STAIR LANDING

7
N,

NIE

i
NIE,

- 40" 0C [10l6]  —

4-2"x10"

Pt

1

SECTION m TYP. WALL BRACE

\2”x6” TONGUE AND GROOVE

NI

o _J
( ”
o
o
<
L
}—
<
a
=z
o
'_
o
4
o
%)
L
a
¥
74
<
=
o
| Qo
o
<
L
‘l—
<
a
z
()
'_
o
4
]
on
L
a
|
X
74
I <
\_ =)
4 O N
Wz s
< Z = o
o o = %
. =
§s < 2 =
,:;,.': o’ 2
<< O £ =
wow Z L
rs O (@) =
o ., O, L
>
m e
5 |8
>3 <
03 a_|
£2 5L
o @ = =
<O g | <5
. E up
N M [m] w LN
2d o, W ztl:cg
z5 Wt £ 92
T Yo = ® ~
25 88 2 54 i
xT £ 5 9& N2
O- O O | Ao <
%)
[n'd
m
SN
Sz
o
\/LZQ
ww =
TuO
LSz
Lo
Oup©
FTO% IR
Z0Zr
L'EJLuI<£
L2
|_l_l—<E
<u =
o O
Ly
Do
T
T
O
N _J
a N
N _J
’
SHEET h
IDENTIFICATION
L SHEET X OF X J






